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Chapter 7   Unemployment, Inflation, and Long-Run Growth

Refer to the information provided in Table 7.3 below to answer the questions that follow.
Table 7.3
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Units Purchased 2007 2008 2009
Blueberries 8 $2.00 $2.00 $2.10 $2.40
Pineapples 5 $2.00 $2.50 $2.50 $3.00

Cheese 3 $2.50 $3.00 $3.50 $4.00
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11) Refer to Table 7.3. Suppose 2008 is the base year. The price index in 2008 is

	A) 1,000.

B) 100.
	C) 10.

D) 1.


12) Refer to Table 7.3. If 2008 is the base year, the price index in 2007 is

	A) 89.3.

B) 96.0.
	C) 104.0.

D) 111.9


13) Refer to Table 7.3. If 2008 is the base year, the price index in 2009 is

	A) 93.9.

B) 94.2.
	C) 105.8.

D) 106.1.


14) Refer to Table 7.3 If 2008 is the base year, the price index in 2010 is

	A) 81.2.

B) 86.8.
	C) 118.8.

D) 123.2.


15) Refer to Table 7.3. If 2008 is the base year, the inflation rate between 2008 and 2009 is

	A) 3.9%.

B) 6.1%.
	C) 7.4%.

D) 10.2%.


16) Refer to Table 7.3. If 2008 is the base year, the inflation rate between 2008 and 2009 is ________ %, and the inflation rate between 2009 and 2010 is ________ %.

	A) 7.4; 13.9

B) 6.1; 16.1
	C) 3.9; 17.1

D) 10.2; 10.4


17) Refer to Table 7.3. The lowest inflation rate is between the years

	A) 2009 and 2010.

B) 2008 and 2009.
	C) 2007 and 2008.

D) cannot be determined from the given information
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Chapter 9   The Government and Fiscal Policy
9.1   Government in the Economy

Refer to the information provided in Table 9.1 below to answer the questions that follow.
Table 9.1
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Output Consumption Net Investment Government
(Income)  Spending Taxes Spending  Spending
400 400 100 200 100
800 700 100 200 100
1,200 1,000 100 200 100
1,600 1,300 100 200 100

2,000 1,600 100 200 100




18) Refer to Table 9.1. At an output level of $1,200 billion, the level of aggregate expenditure is

A) $1,000 billion.

B) $1,200 billion.

C) $1,300 billion.

D) $1,400 billion.

19) Refer to Table 9.1. At an output level of $1,200 billion, there is an unplanned inventory change of

A) positive $10 billion.

B) zero.

C) negative $100 billion.

D) positive $100 billion.

20) Refer to Table 9.1. At an output level of $2,000 billion, the level of aggregate expenditure is

A) $1,500 billion.

B) $1,800 billion.

C) $1,900 billion.

D) $2,000 billion.

21) Refer to Table 9.1. At an output level of $2,000 billion, there is an unplanned inventory change of

A) positive $100 billion.

B) positive $10 billion.

C) negative $100 billion.

D) zero.

22) Refer to Table 9.1. The equilibrium level of output is ________ billion.

A) $800

B) $1,200

C) $1,600

D) $2,000
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